10. a. Sketch the graph of y = cos x for 2 <x<2n. Usea scale of n/2 on the
x-axis and a scale of 1 on the y-axis. '
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b. Using the graph explain why the following statement is true.
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c. Sketch the graph of Y =sinx for -2r < x< 27, Use a scale of n/2
x-axis and a scale of 1 on the y-axis.
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in (—x) =sin x is a true statement? Explain why
ement about sin (~x) that is true,

Sin(«x)’- S1NX 15 V\G{' & e Stalesent
b(CW Hee ﬂm/pk (S &dmm&ffr'icg
avnd - L ¢- oS in order— for ﬁg( +€,\

e due, He opaphs most be S\Omré S
i wan, L¥e  w= cosx . Gin () =—( in "
becaose. i you were o MeFlect Y= Sink o ‘

Woxis , t "loould map 'OUP 5 ke 41& Qﬁi)
OW&&"& %Le L)fS'm(fx)ué 51,\&“\,%] ok

~ K0KIS
X =GXIS (vt Posvhive . and blliow +f<
Were Mﬂahm,

d. Use the graph to decide if s
or why not and write a stat



